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~ scan and upload to Canvas. Show and label all of your work. Responses with no work m&y.
receive no credit even if the answer is correct.

(1) Determine whether the two lines parametrized below intersect.
Ly: 7i(t) = (4+2t,3 —t,2+ 4t)
L:Q 3 'Fz(t) = (11 - 3t, -3 ar 4t, 10t>

If the lines intersect

— Find the point of intersection

— Find an equation of the plane containing both lines.
If the lines do not intersect

— Determine whether or not the lines are parallel

— Find the distance between the lines.
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